# Project Name: Potrero Road Bike Lanes - Phase II Spec. No. RD20-03 Abstract of Bids opened on March 17, 2020

ENGINEER'S ESTIMATE: 1,350,000.00

LOW BIDDER - Sully-Miller Contracting Company Brea, CA 92821	1,347,000.00
2nd Bidder - Enterprise Construction Inc. Agoura Hills, CA 91301	1,348,373.00
3rd Bidder - Toro Enterprises, Inc. Oxnard, CA 93031	1,504,719.40
4th Bidder - Granite Construction Company Ventura, CA 93003	1,583,576.20
5th Bidder - C.A. Rasmussen, Inc. Valencia, CA 91355	1,634,370.40
6th Bidder - All American Asphalt Corona, CA 92879	1,662,710.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

	pened on March 17, 2020			ENGINEER'S ESTIMATE LOW BIDDER				
Project	: Name: Potrero Road Bike Lanes - Phase II			1 .			Sully-Miller Contracting Company 135 S. State College Blvd., Suite #400	
							je Biva., Suite #400	
						Brea, CA 92821		
	Spec. No. RD20-03							
ITEM NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
140.	Mobilization	LS	1	64,245.00	64,245.00	130,000.00	130,000.00	
2	Traffic Control & Construction Signing	LS	1	80,000.00	80,000.00	134,611.68	134,611.68	
	Water Pollution Prevention	LS	1	7,000.00	7,000.00	5,800.00	5,800.00	
,	Bridge Widening Preparation	LS	1	30,000.00	30,000.00	37,000.00	37,000.00	
5	Drill & Bond Dowel	EA	53	40.00	2,120.00	125.00	6,625.00	
;	Bridge Structural Modification (West Side)	LS	1	50,000.00	50,000.00	35,650.00	35,650.00	
,	Bridge Structural Modification (East Side)	LS	1	50,000.00	50,000.00	35,650.00	35,650.00	
	Concrete Bartrier Type 732	LF	70	250.00	17,500.00	272.00	19,040.00	
	Tubular Bicycle Railing	LF	70	200.00	14,000.00	127.00	8,890.00	
0	Midwest Guardrail System	LF	494	44.00	21,736.00	33.00	16,302.00	
1	Midwest Guardrail Transition Railing	EA	4	3,500.00	14,000.00	4,773.00	19,092.00	
2	Midwest Guardrail Terminal System	EA	4	3,500.00	14,000.00	3,700.00	14,800.00	
3	18" RCP	LF	77	220.00	16,940.00	355.00	27,335.00	
4	18"CMP Extension	LF	12	200.00	2,400.00	1,150.00	13,800.00	
5	Grating Catch Basin (V = 4')	LS	1	9,000.00	9,000.00	5,000.00	5,000.00	
6	Straight Headwall (H = 3' -2"	LS	4	5,500.00	22,000.00	4,800.00	19,200.00	
7	Light Class Rock Splash Pad	EA	1	1,500.00	1,500.00	3,450.00	3,450.00	
8	Air Placed Concrete with Wire Mesh	CY	18	650.00	11,700.00	805.00	14,490.00	
9	Road Shoulder Slope & Ditch Regrading	LS	1	30,000.00	30,000.00	87,000.00	87,000.00	
20	7" Thick AC Pavement Widening	TN	4200	150.00	630,000.00	117.00	491,400.00	
21	Driveway Approach & Misc. AC Paving	TN	40	450.00	18,000.00	530.00	21,200.00	
22	PMB Shoulder Backing	MI	3	12,000.00	36,000.00	11,800.00	35,400.00	
3	Micro-milling	SF	15132	1.50	22,698.00	1.26	19,066.32	
24	Surface Preparation & Crack Sealing	LS	1	15,000.00	15,000.00	15,000.00	15,000.00	
25	Type II Emulsion-Aggregate Slurry	SY	31300	3.20	100,160.00	2.69	84,197.00	
26 26	Pavement Delineation & Striping	LS	1	70,000.00	70,000.00	47,000.00	47,000.00	
20 27	Release on Contract	LS	1	1.00	1.00	1.00	1.00	
	TOTAL				1,350,000.00	<del></del> .	1,347,000.00	

Bids of	pened on March 17, 2020	2nd Bidder		3rd Bidder		
Projec	t Name: Potrero Road Bike Lanes - Phase II	Enterprise Constru	Enterprise Construction Inc.		Toro Enterprises, Inc.	
,		28436 Roadside D	rive #1	P.O. Box 6285		
		Agoura Hills, CA 9	1301	Oxnard, CA 93031		
	Spec. No. RD20-03					
ITEM				LINIT DDIOE	TOTAL	
NO,	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	150,000.00	
1	Mobilization	235,520.00	235,520.00	150,000.00	•	
2	Traffic Control & Construction Signing	50,000.00	50,000.00	145,000.00	145,000.00 9,000.00	
3	Water Pollution Prevention	15,000.00	15,000.00	9,000.00	•	
4	Bridge Widening Preparation	62,358.00	62,358.00	37,000.00	37,000.00	
5	Drill & Bond Dowel	120.00	6,360.00	211.00	11,183.00	
6	Bridge Structural Modification (West Side)	47,364.00	47,364.00	77,000.00	77,000.00	
7	Bridge Structural Modification (East Side)	47,364.00	47,364.00	77,000.00	77,000.00	
8	Concrete Bartrier Type 732	250.00	17,500.00	445.00	31,150.00	
9	Tubular Bicycle Railing	140.00	9,800.00	132.00	9,240.00	
10	Midwest Guardrail System	35.50	17,537.00	34.00	16,796.00	
11	Midwest Guardrail Transition Railing	5,250.00	21,000.00	4,975.00	19,900.00	
12	Midwest Guardrail Terminal System	4,000.00	16,000.00	2,830.00	11,320.00	
13	18" RCP	150.00	11,550.00	190.00	14,630.00	
14	18"CMP Extension	250.00	3,000.00	175.00	2,100.00	
15	Grating Catch Basin (V = 4')	5,000.00	5,000.00	9,000.00	9,000.00	
16	Straight Headwall (H = 3' -2"	5,726.00	22,904.00	12,700.00	50,800.00	
17	Light Class Rock Splash Pad	3,000.00	3,000.00	1,600.00	1,600.00	
18	Air Placed Concrete with Wire Mesh	375,00	6,750.00	1,400.00	25,200.00	
19	Road Shoulder Slope & Ditch Regrading	9,850.00	9,850.00	24,000.00	24,000.00	
20	7" Thick AC Pavement Widening	125.00	525,000.00	134.50	564,900.00	
21	Driveway Approach & Misc. AC Paving	175.00	7,000.00	295.00	11,800.00	
22	PMB Shoulder Backing	4,000.00	12,000.00	12,625.00	37,875.00	
23	Micro-milling	1.25	18,915.00	0.70	10,592.40	
24	Surface Preparation & Crack Sealing	15,000.00	15,000.00	25,000.00	25,000.00	
25	Type II Emulsion-Aggregate Slurry	2.00	62,600.00	2.64	82,632.00	
26	Pavement Delineation & Striping	100,000.00	100,000.00	50,000.00	50,000.00	
27	Release on Contract	1.00	1.00	1.00	1.00	
	TOTAL		1,348,373.00		1,504,719.40	
	19111		-			

om unit price M=Modified b bidder

Bids or	pened on March 17, 2020	4th Bidder		5th Bidder		
	Name: Potrero Road Bike Lanes - Phase II	Granite Construction Company		C.A. Rasmussen, Inc.		
		4820 McGrath Stre	4820 McGrath Street, #101		28548 Livingston Avenue	
		Ventura, CA 93003	3	Valencia, CA 91355		
	Spec. No. RD20-03					
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
	Mobilization	129,025.00	129,025.00	140,000.00	140,000.00	
	Traffic Control & Construction Signing	114,416.00	114,416.00	160,000.00	160,000.00	
	Water Pollution Prevention	3,000.00	3,000.00	13,000.00	13,000.00	
	Bridge Widening Preparation	50,000.00	50,000.00	45,000.00	45,000.00	
	Drill & Bond Dowel	135.00	7,155.00	47.00	2,491.00	
	Bridge Structural Modification (West Side)	55,000.00	55,000.00	86,000.00	86,000.00	
	Bridge Structural Modification (East Side)	55,000.00	55,000.00	74,000.00	74,000.00	
	Concrete Bartrier Type 732	475.00	33,250.00	450.00	31,500.00	
	Tubular Bicycle Railing	126.00	8,820.00	130.00	9,100.00	
0	Midwest Guardrail System	33.00	16,302.00	35.00	17,290.00	
1	Midwest Guardrail Transition Railing	4,730.00	18,920.00	4,800.00	19,200.00	
2	Midwest Guardrail Terminal System	3,600.00	14,400.00	3,000.00	12,000.00	
3	18" RCP	165.00	12,705.00	120.00	9,240.00	
4	18"CMP Extension	125.00	1,500.00	280.00	3,360.00	
5	Grating Catch Basin (V = 4')	9,000.00	9,000.00	6,500.00	6,500.00	
6	Straight Headwall (H = 3' -2"	7,000.00	28,000.00	7,600.00	30,400.00	
7	Light Class Rock Splash Pad	1,100.00	1,100.00	1,400.00	1,400.00	
8	Air Placed Concrete with Wire Mesh	3,045.00	54,810.00	2,400.00	43,200.00	
9	Road Shoulder Slope & Ditch Regrading	21,000.00	21,000.00	202,000.00	202,000.00	
0	7" Thick AC Pavement Widening	172.00	722,400.00	130.00	546,000.00	
1	Driveway Approach & Misc. AC Paving	725.00	29,000.00	170.00	6,800.00	
2	PMB Shoulder Backing	13,600.00	40,800.00	11,000.00	33,000.00	
3	Micro-milling	0.85	12,862.20	1.20	18,158.40	
4	Surface Preparation & Crack Sealing	13,500.00	13,500.00	14,000.00	14,000.00	
5	Type II Emulsion-Aggregate Slurry	2.70	84,510.00	2.10	65,730.00	
26	Pavement Delineation & Striping	47,100.00	47,100.00	45,000.00	45,000.00	
27	Release on Contract	1.00	1.00	1.00	1.00	
	TOTAL		1,583,576.20		1,634,370.40	

	pened on March 17, 2020	6th Bidder		7th Bidder	
Project Name: Potrero Road Bike Lanes - Phase II		All American Aspha			
-		400 East Sixth Stre	et		
		Corona, CA 92879			
	Spec. No. RD20-03				r
ITEM	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
NO.		115,000.00	115,000.00	OHITTHOL	
	Mobilization Traffic Control & Construction Signing	163,000.00	163,000.00		
	Water Pollution Prevention	7,850.00	7,850.00		·
;	Bridge Widening Preparation	43,160.00	43,160.00		
	Drill & Bond Dowel	38.00	2,014.00		(E)
i	Bridge Structural Modification (West Side)	66,000.00	66,000.00		(*)
	Bridge Structural Modification (West Side)	64,300.00	64,300.00		
	Concrete Bartrier Type 732	600.00	42,000.00		100
	Tubular Bicycle Railing	452.00	31,640.00		<del>.</del> /
0	Midwest Guardrail System	71.00	35,074.00		(2)
ս 1	Midwest Guardrail Transition Railing	5,040.00	20,160.00		3,83
2	Midwest Guardrail Transition Teaming Midwest Guardrail Terminal System	5,420.00	21,680.00		9€9
3	18" RCP	330.00	25,410.00		: 2
4	18"CMP Extension	417.00	5,004.00		-
5	Grating Catch Basin (V = 4')	14,000.00	14,000.00		3∌:
6	Straight Headwall (H = 3' -2"	11,000.00	44,000.00		•
7	Light Class Rock Splash Pad	3,250.00	3,250.00		S <b>a</b> €
8	Air Placed Concrete with Wire Mesh	1,960.00	35,280.00		150
9	Road Shoulder Slope & Ditch Regrading	33,400.00	33,400.00		·
20	7" Thick AC Pavement Widening	155.00	651,000.00		
1	Driveway Approach & Misc. AC Paving	309.00	12,360.00		38
2	PMB Shoulder Backing	18,940.00	56,820.00		300
3	Micro-milling	1.00	15,132.00		•
4	Surface Preparation & Crack Sealing	34,000.00	34,000.00		
:5	Type II Emulsion-Aggregate Slurry	2.25	70,425.00		·
26	Pavement Delineation & Striping	50,750.00	50,750.00		
27	Release on Contract	1.00	1.00		(%)
	TOTAL		1,662,710.00		0.00

Spec. No. RD20-03 Project No. 50570

#### **PROPOSAL**

Contractor's Name Sully-Miller Contracting Company

## List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Christ	374600		Striping
Co.	1000000306	Bloomington ca 97514	20,26
Pavement	303609		SIUTY
	1000003382	Jurpa Valley of 91752	10,20,25
Gating 5 CMB	613977A		Strikes
Const.	100000 1531	Republic Econoga ca 91730	5-8,15/6
C & W Construction	256795A		Railing, Guard Rail
specialties	1000007135	Ventura c4 93003	9-12
Straight UP	LS 4717	Grand Ferrace CA	Survey
Survey	1000060199	92313	/
/			

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

Spec. No. RD20-03 Project No. 50570

#### **PROPOSAL**

Contractor's Name Enterprise Construction Inc

## List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
C&W Construction	256795	2419 Palma Drive Ventura, CA 93003	9,10,11,12
Super Seal & Stripe	396627	310 A Street Fillmore, CA 93016	26
Total Barricade	826823	701 E Ventura Blvd Oxnard, CA 93036	2

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

(a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10.000), whichever is greater.

(b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.